FB2.1

Question 1
Simplify 7a + 5b - 5a - 6b

2a-b

Question 2
Simplify 7a+4b +7a-3b

14a+b

Question 3
Expand 5(7x - 1)

33X~5

Question 4
Expand 6(2x + 7)

12x + 42

Work out 1/2 of £80

£40.00

Work out 1/4 of £120

£30.00

Question 5 Question 6 Question 7 Question 8

Work out 161x5= \Work out 23 x 80 = Complete 18000 m = ..... km Complete 250 cm = ..... m
805 1840 18 km 2.5m

Question 9 Question 10 Question 11 Question 12

Work out £23.20 + £6.90 =

£30.10

Work out £80.30 + £41.65 =

£121.95

18

38500

Question 13 Question 14 Question 15 Question 16

Work out £21.55 - £6.60 = \Work out £20.65 - £35.20 = Work out the value of y+ 2 when |Work out the value of 6a-7
y=12 when a=3

Question 17 Question 18 Question 19 Question 20

Work out 1.8x10= Work out  38.5x 1000 = Solve x-3=9 Solve x-6=1

=12

X=4J

=




rB2.2

Question 1
Simplify 9a + 3b + 4a - 6b

13a-3b

Question 2
Simplify 7a + 3b + 8a + 8b

15a +11b

Question 3

Expand 6(7x + 3)

42x + 18

Question 4
Expand 5(2 + 11x)

10+ 95X

Question 5 Question 6 Question 7 Question 8

Work out 471x6= Work out 84 x27 = Complete 9000 m = ..... km Complete 120 mm = ..... cm
2826 2268 9 km 12 cm

Question 9 Question 10 Question 11 Question 12

Work out 1/2 of £74

£37.00

Work out 1/4 of £128

£32.00

Work out £61.70 + £11.20 =

£72.90

Work out £65.05 + £8.60 =

£73.65

Question 13
Work out £11.15-£12.35=

£1.20

Question 14
Work out £34.65 - £50.70 =

£16.05

Question 15
Work out the value of b-6 when

b-16
10

Question 16
Work out the value of ¢ +5 when

c=35
i

Question 17

Work out  1.62x10=

16.2

Question 18

Work out  18.3x 1000 =

18300

Question 19
Solve x+5=5

Question 20
Solve x+2=8

=5

=

=




FB2.3

Question 1
Simplify 8a + 4b - 7a - 5b

a-b

Question 2

Simplify 8a + 4b - 6a + 4b

2a+ 8b

Question 3
Expand 5(2 + 11x)

10 + 55%

Question 4
Expand 3(11 - 2x)

33 - BX

Question 5 Question 6 Question 7 Question 8

Work out 472 x4 = Work out 21 %54 = Complete 800 cm =..... m Complete 7.4m = ..... cm
1888 1134 8m 740 cm

Question 9 Question 10 Question 11 Question 12

Work out 1/2 of £58

£29.00

Work out 1/4 of £108

£27.00

Work out £56.25 + £25.65 =

£81.90

Work out £66.85 + £4.65 =

£71.50

Question 13
Work out £83.55- £8.60 =

£74.95

Question 14
Work out £14.05 - £56.40 =

£42.35

Question 15
Work out the value of ¢-8 when
i1

7

Question 16
Work out the value of a+7 when
a=4

11

Question 17

Work out  16.62 x 1000 =

16620

Question 18

Work out  18.66 x 1000 =

18660

Question 19
Solve x+6=13

X=7

Question 20
Solve x+10=3

x =30

&=

=




FB2.4

Question 1

Simplify 8a+ 3b + 8a-4b

16a-b

Question 2
Simplify 7a + 5b + 8a- 4b

15a+b

Question 3
Expand 4(1 + 5x)

4 + 20x

Question 4
Expand 4(7x + 5)

28x + 20

Work out 1/2 of £76

£38.00

Work out 1/4 of £104

£26.00

Work out £35.90 + £6.60 =

£42.50

Question 5 Question 6 Question 7 Question 8

Work out 654 x7 = Work out 82x26= Complete 180 mm = ..... cm Complete 11500 m = ..... km
4578 2132 18 cm 11.5 km

Question 9 Question 10 Question 11 Question 12

Work out £85.20 + £50.55 =

£135.75

Question 13
Work out £37.50- £9.30 =

£28.20

Question 14
Work out £32.15-£29.10=

£3.05

Question 15
Work out the value of 6c-7 when
c=4

17

Question 16
Work out the value of 2a when
a=10

20

Question 17

Work out  2.15x%x100 =

2L

Question 18

Work out  3.37 x 1000 =

3370

Question 19
Solve x+11=14

K i

Question 20
Solve x-4=7

e |

-

=)




FB2.5
Question 1 Question 2 ‘Question 3 Question 4
Simplify 5a + 4b + 8a - 6b Simplify 10a + 5b + 8a - 4b Expand 2(5 - 7x) Expand 6(3 - 2x)
13a-2b 18a+b 10 - 14X 18 - 12x
Question 5 Question 6 Question 7 Question 8
Work out 190 3 = Work out 45% 35 = Complete 210 mm = .....cm Complete 100 mm = .....cm
570 1575 21 cm 10 cm
Question 9 Question 10 ‘Question 11 Question 12
Work out 1/2 of £38 Work out 1/4 of £152 Work out £96.65 + £8.10 = Work out £33.65 + £41.40 =
£19.00 £38.00 £104.75 £75.05
Question 13 Question 14 Question 15 Question 16
Work out £46.80 - £23.60 = Work out £7.00 - £9.45 = Work out the value of 6a+ 10 Work out the value of 25-2a
when a=8 when a=14
£23.20 £2.45 58 17
Question 17 Question 18 ‘Question 19 Question 20
Work out  2.128 x 1000 = Work out  1.106 x 100 = Solve x+4=13 Solve xx9=36
2128 110.6 Xx=9 X=4

=

=




FB2.6

Question 1
Simplify 6a + 5b + 4a + 4b

10a + 9b

Question 2
Simplify 10a + 3b + 6a - 6b

16a - 3b

Question 3
Expand 4(11x + 5)

44x + 20

Question 4
Expand 2(7 - 5x)

14 - 10x

Work out £91.80 - £39.95 =

£51.85

Work out £68.55 - £30.80 =

£37.75

Work out the value of b-2 when
b=18

16

Question 5 Question 6 Question 7 Question 8
Work out 273 x9= Work out 94 x 20 = Complete 170 mm = ..... cm Complete 6500 m = ..... km
2457 1880 17 cm 6.5 km
Question 9 Question 10 Question 11 Question 12
Work out 1/2 of £53 Work out 1/4 of £156 Work out £59.85 + £46.30 = Work out £71.45 + £8.90 =
£26.50 £39.00 £106.15 £80.35
Question 13 Question 14 Question 15 Question 16

Work out the value of 20 - 3y
when y=2

14

Question 17

Work out 213.8x100=

21380

Question 18

Work out  82.7 x100 =

8270

Question 19
Solve x+3=15

Question 20
Solve xx5=40

X=8

-

—




FB2.7

Question 1

Simplify 8a + 5b + 4a - 6b

12a-1b

Question 2

Simplify 7a+4b +3a-7b

10a - 3b

Question 3
Expand 4(13 - 11x)

52 - 44X

Question 4

Expand 3(3x + 2)

OX + 6

£35.50

£11.00

£30.20

Question 5 Question 6 Question 7 Question 8

Work out 123x3= Work out 70x50= Complete 20000 m = ..... km Complete 9.9 m=.....cm
369 3500 20 km 990 cm

Question 9 Question 10 Question 11 Question 12

Work out 1/2 of £71 Work out 1/4 of £44 Work out £8.15 + £22.05 = Work out £88.05 + £45.55 =

£133.60

Question 13
Work out £33.50 - £29.05 =

£4.45

Question 14
Work out £86.35 - £7.05 =

£79.30

Question 15
Work out the value of 30-y when
y=9

21

Question 16
Work out the value of y+6 when
y=17

13

Question 17

Work out  146.7 x 1000 =

146700

Question 18

Work out  18.06x 100 =

1806

Question 19
Solve x+7=11

Xi=17

Question 20
Solve x+12 =22

Xx=-10

=




